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HDCP kR : FH80 ik . L
BLt—n: o 020D®O® .
FUEAZIRE : e (FVIE) - BB 5 U S WJE) FORI : %0 748 5H 8  (K)
[Eiva ZnES G GROSS | HDCP | NET = MNERL ZME4 s GROSS | HDCP | NET ik
B Lk EE 44 44| 9.6| 34.4 41 fif |k Fisk 45 451  7.2] 378
BT IET RS 42 2| 7.2| 348 42 07 | % m— 45 45| 7.2| 37.8
3 )| ghk e 42 2] 7.2] 348 43 fi | AH FHi 45 45|  7.2] 37.8
4 fn FE =E 48 48| 13.2| 34.8 c44 fpl =R Aot 51 51| 13.2| 37.8
5| BE B 47 47| 12.0| 35.0 45 fi| kil Fogl 45 45| 7.2| 37.8
6 {ir | b/ig RBAL 40 40| 48] 352 46 fir | 5H WH— 45 45|  7.2] 37.8
T\ FiE ER 52 52| 16.8| 35.2 47 fir | B 18 44 44| 6.0/ 38.0
8 i Hh Bfs 40 40 4,8| 352 48 i | A E=Fn 50 50| 12.0f 38.0
9 (L) 1EH E¥h 39 39 3.6] 35.4|BG 49 i | )il Fogs 43 43 4,8 38.2
10 (7 | Yo e 45 45|  9.6| 35.4 50 {ir.| & FEA 49 49| 10.8| 38.2
(11 (| £ LK 44 44| 8.4| 35.6 51% B 19 49| 10.8] 38.2
12 fif | T2 44 44| 8.4| 35.6 52 {i | G2 Wbdn 42 42| 3.6 38.4
13 L |FnE & 43 43 7.2] 35.8 53 {ir | WA ZIE 47 47 8.4| 38.6
14 fif |#BAAE E 42 42|  6.0] 36.0 54 {if | {50 ik 47 47| 84| 38.6
15 fin | KE £ 42 42|  6.0] 36.0 B5_fin| W e 47 47| 8.4| 38.6
16 fif |fEx A ERE 42 42 6.0] 36.0 56 {ir | #)I| AR 52 52| 13.2| 38.8
17 i |5 e 48 48| 12.0] 36.0 57 i | i 8 46 46 7.2| 38.8
18 {7 | TfE = 47 47| 10.8| 36.2 58 fir | ift HF] 46 46 7.2] 38.8
19 {7 | =i & 53 53| 16.8| 36.2 59 i | B EE 51 51| 12.0| 39.0
20 {ir | g It 47 47| 10.8| 36.2 60 fi7 | 5)I| E— 44 44| 4.8] 39.2
21 {i | A % 53 53| 16.8]| 36.2 61 fif | fi4s BLE 50 50| 10.8| 39.2
(22 fp | ko BE— 46 46| 9.6| 36.4 62 {if | YA AB 49 49| 9.6| 39.4
23 | S0 B AR 46 46| 9.6] 36.4 63 {ir | BiE E& 49 49| 9.6] 39.4
24 7 [EF FE 45 45 8.4| 36.6 64 fi | B2E ZIE 42 42 2.4] 39.6
95 _fir |1 B+ 30 39| 2.4 366 65 {ir |[BEE B— 46 46 0] 40.0
26 L | HE e 45 45| 8.4| 36.6 ®6 0| 1LF HIE 51 51 10.8 40.2
27 {ir | #mil fih 50 50 13.2] 36.8 67 fir | )1 M 50 50| 9.6 40.4
28 fir | AfR IR 44 44 7.2| 36.8 68 {ir |7 #%5B 50 50 9.6| 40.4
29 fir | )\ #RiE 55 55| 18.0| 37.0 69 fir | ks 5 51 51| 9.6] 41.4
30 fir | LA #7 43 43|  6.0] 37.0 T0_fip| RALE Fer 49 49 7.2| 41.8
31 fir | T = 42 42| 4.8 31.2 B B|EE K& 51 51| 8.4] 42.6
32 i | 1L i 54 54| 16.8| 37.2 B M| = 56 56| 12.0| 44.0
(33 M| Rl wW— 42 42|  4.8| 37.2
347 | AT FiE 41 41| 3.6| 37.4
A5 (1 |2 A B 47 47|  9.6| 37.4
36 {7 | RAE 4 41 41 3.6 37.4
37 AL NE Fogg 53 53| 15.6| 37.4
38 fif |8 IEER 46 46 8.4 37.6
39 {7 | il P 46 46 8.4| 37.6
A0 fir | KR & 45 45| 7.2| 37.8
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FUARIIRTE : 4R (AVUE) - BV L UNS W) - : EDR : &f1 742 BH 8R  (K)
JELE BMEL ] GROSS | HDCP [ NET e JEf ZnHAL ] GROSS | HDCP | NET | - BE
& B it —% 43 43] 9.6] 33.4f _ 41 7 [ RE BR 44 44| 6.0] 380

ZEGEM | iR 2 0 40| 6.0| 340|BG : 42 | hE BE 50 50| 12.0] 38.0

B BT Bk 46 46| 10.8] 35.2 43 fr (| fF 44 44|  6.0] 380

o fi e A R 44 44| 84| 35.6 A1 |+ X8 56 56 18.0] 38.0

5 Rk BE 43 43| 72| 358 db Tr| B H0E 49 9] 10.8] s8.2

B il mm &R 43 43] 7.2] 358 46 4 | IITF 1=k 49 49! 10,8] 38.2

AR 42 42 6.0] 36.0 47 i | 483 BFE 42 42| 3,8] 38.4

8 | B B 42 42| 6.0] 36.0 48 firl g E— 47 47| 8.4 38.6

79 fir | Rl IEA 41 41] 4.8 36.2 49 fr | 3Bl B 47 47 8.4 38.6

10 o [ B 47 47| 10.8] 36.2 50fn| 8 # 41 41) 241 386

AT fin | THE ok 41 41 . 4.8] 36.2 514 | &F BE—EB 52 52] 13.2] 38.8

127 | #F =% 41 41| 4.8] 36.2 52 fr &8s = 48 46| 7.2] 388

13 fi [ms H= 46 46 9.6| 36.4 53 fif |[{E4 K #Z 46 46 7.2 38.8

14 fi|A1 =3 46 46 9.6 36.4 54 v | BEIE sEdE 46 48 7.2| 38.8

A5 T R 40 40 3.6] 36.4 55 {iry P f— 51 51{ 12.0| 39.0

16 iz | | E&E 48 461 9.6 36.4 56 fir | W8 E 50 50( 10.8] 30.2

17 fir | JHiF —% 46 - 46 9.6] 36.4 57 4 | Fil By 49 49 9.6| 39.4

18 fir | &%Hn &k 45 45 84| 36.86 58 fir|RIL B 49 : 49 9.6 39.4

19 @0 BE 44 44 7.2] 36.8 59 fir |WT & 53 53| 13.2| 39.8

20°(i | BT HHE 4 4| 7.2] 36.8 60 fin| kPl T 53 53| 13.2] 39.8

21 fr | E@ ik 44 44| 7.2| 36.8 61D L AR B 53 53| 13.2] 30.8

I8 fn) Folg ¥ 43 43|  6.0] 370 62 (L& & 47 47|  7.2| 39,8

234 | BB %3l 49 49| 12,0 37.0 63 4L | FE KEF 58 58| 18.0| 40.0

24 {7 |[BF #% 55 55| 18.0| 37.0 64 fir | B N3 57 B7| 16.8| 40.2

25" (0| ardE EA 49 491 12.0] 37.0 65 i | = FE 48 48| 71.2| 40.8

26 {7 |#ZH HE 48 48| 10.8] 37.2 6 fip| R & #EF 48 48|  7.2] 40.8

27 4 4kl YR 42 42 4.8{ 37.2 67 fir | thiR & 50 50 8.4] 416

28 fir |3 —§ 42 42 4.8 37.2 68 L | Ly 33 56 56| 14.4] 41.6

29 fif [t %B 47 ' 4711 9.6] 37.4 69 47 | )l Exk 49 49| 7.2] 418

30 fr (% B 41 41| 3.6] 37.4 A0 fir | BB 5 55 55| 13.2] 41.8

31 B | A B 41 _ 41| 3.6 37.4 71 | BRE B 48 48| 6,0] 42.0

32 fir |IUE BE 41 41 3.6| 37.4 i B BlXKE & 52 52 9.6] 42.4

33 4 | A BT 41 41| 3.6| 37.4 B M| kAR s 50 s0i 7.2] 428

34 fir j1his Br=gp 40 401 2.4 371.6 '

3/ L= B 48 46| 8.4] 37.6

36 ff | BF 46 46 8.4 216

37 i BB ERE 45 45 7.2] 318

38 fr |FER PEE 45 45 7.2] 31.8

39 {i | AR B 44 44 6.0] 38.0

A0 | R e 44 44| 6.0 38.0




